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; 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 1 000 ~ 467 58.19 | =hs | 0oo ~ 000 1.62 8.66 znLs 1.00 | 5.00 ~ 5.00 5819 | #nst | 6.00 ~ 500 1.62 8.66
2 100kN/M%#8Z2% | 1.00 | 0.00 ~ 091 113.69 |3mZz#BAE| — ~ — — — | 100kN/mMi%E#Z5 | 1.00 | 10.78 ~ 1380 113.69 |3mZiBZ5 -~ — — —
ZznLst 1.00 | 0.91 ~ 870 100.00 | =nllst | 000 ~ 870 2.08 11.15 znLs 1.00 1 6.00 ~ 10.78 100.00 | =nRSt | 6,00 ~ 1380 | 2.08 11.156
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 008| 101.11 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 11.07 ~ 11.30| 101.11 |3mZ#BZ5 -~ — — —
ZznLst 1.00 |1 0.08 ~ 7.86 100.00 | =04y | 000 ~ 7.86| 204 10.92 znLs 1.00 |1 6.00 ~ 11.07 100.00 | =nS | 6,00 ~ 1150 | 2.04 10.92
4 100kN/m#%#B25| 1.00| 000 ~ 038| 10560 |3m&EBZB| — ~ — — — | 100kN/mM%E#BZ 5| 1.00 | 10565 ~ 11.60| 105.60 |3mE#BZ5 -~ — —
ZznLst 1.00 | 0.38 ~ 816 100.00 | =nllst | 000 ~ 816|216 11.54 znLs 1.00 1 6.00 ~ 1055 100.00 | Fhst | 5,00 ~ 1160|216 11.54
5 100kN/m%Z#BZ5| 1.00 | 000 ~ 166| 12538 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 11.07 ~ 1840 12538 |3mZiBZ5 -~ — —
ZznLst 1.00 | 1.66 ~ 9.44 100.00 | =nllst | 000 ~ 944|222 11.56 znLs 1.00 |1 6.00 ~ 11.07 100.00 | =nRSt | 6,00 ~ 1840|222 11.86
¢ 100kN/m%Z#BZ5| 1.00 | 000 ~ 108| 11623 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 11.51 ~ 1608 11623 |3mZiBZ5 -~ — — —
ZznLst 1.00 | 1.08 ~ 886 100.00 | =nllsy | 000 ~ 886|217 11.61 znLs 1.00 1 6.00 ~ 1151 100.00 | =hs | 5,00 ~ 1608 2.17 11.61
7 100kN/mMZ#8 % % -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 | 000 ~ 6.38 80.32 | =ns | 000 ~ 638|175 9.36 znLs 1.00 | 5.00 ~ 7.50 80.32 | #nLS | 6.00 ~ 760|175 9.36
100kN/mMZ#8 % % ~ IMEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh st ~ Zh LS ~ Zh LS ~
100kN/mMZ#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh LS ~ ZhLs ~
100kN/mMZ#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
ZhLS ~ Zh Lot ~ Zh LS ~ ZhLs ~
100kN/mMZ#8 % % ~ IMEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zhs ~ Zh Lot ~ Zh LS ~ ZhLsh ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 25 ~ ImEFEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 2% ~ ImEFEZD ~
TS ~ ThLLst ~ NS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/mM%#B 2% ~ ImEFEZD ~
Zhst ~ Zh Lot ~ Zh LS ~ ZhLs ~




